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QUESTION 1

Which two statements are true about NVMe? (Choose two.)
A. NQNs are added to namespaces.

B. LUNs are mapped to Initiator groups.

C. NQNs are added to subsystems.

D. Namespaces are mapped to subsystems.

Correct Answer: CD

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sanag%2FGUID-52A6B6A1-61F8-4845-91CB-B13A1526CC30.html

Add the host NQN to the subsystem: vserver nvme subsystem host add -vserver SVM_name -subsystem
Subsystem_name -host-ngn Host_ NQN:subsystem.Subsystem_name Map the namespace to the subsystem: vserver
nvme subsystem map add -vserver SVM_name -subsystem subsystem_name -path path

QUESTION 2
Exhibit.
IPspaces + Broadcast Domains
clu"er Bmd“st Domllint Ciulter Dﬂﬂﬂ MTU IPth't!: Cll.llt!r
Cluster cluster1-01 e0a e0b
cluster1-02 e0a e0b
Default Storage VMs Default 1500 MTU IPspace:Default
acmefs01, AcmeVMO1, cluster1-01 e0c e0d e0e e0f e0g
svm1_cluster1,svm2_cluster1 cluster1-02 e0c e0d e0e e0f elg
Network Interfaces 4+ Q. Search # Download -
Name Status Storage VM  IPspace Address Current Node Current Port
Q = clusteri Default < Q Q
lif_acmefs01_868 ] acmefsOi Default 192.168.0.200 cluster1-01 elc

You have an ONTAP 9.8 cluster. After network maintenance, the LIF that is shown in the exhibit is not always on a
correct port and is unreachable by users until the LIFs are moved to port eOc or eOd on either storage node. In this
scenario, which action should you take to ensure that the LIF only fails over to the correct ports?

A. Create a DNS load balancing zone.

B. Split the broadcast domain.

NS0-162 PDF Dumps | NS0-162 VCE Dumps | NS0-162 Practice Test 214


https://www.pass4itsure.com/ns0-162.html
https://www.pass4itsure.com/ns0-162.html
https://www.pass4itsure.com/ns0-162.html

. VCE & PDF https://www.pass4itsure.com/ns0-162.html
a 2024 Latest passditsure NS0-162 PDF and VCE dumps Download
== / PassditSure.com

C. Create an IPspace.
D. Change the LIF\\'s failover policy to sfo-partner-only

Correct Answer: B

QUESTION 3

Exhibit.

clusterl::> volume show =-vserver swvm2 clusterl =volume data =-fields space-guarantee, fractiocnal=-reserve,autosize-mode,space=-slo
v volume autosize-mode space-slc space-guarantee fractional-reserve

1 data grow none none 0%

-fislds space-reserve,space-allocation

avmi clusterl /vol/data/lun disabled disabled

You have a 2-node NetApp FAS2750 ONTAP cluster. You create a new 20-GB LUN In a new 100-GB volume and write
10 GB of data to the LUN. No storage efficiencies are enabled for the volume or aggregate. Referring to the exhibit,
which two statements are true? (Choose two.)

A. ONTAP reports that the volume Is using 10 GB of Its containing aggregate.

B. ONTAP reports the volume as 20% full.

C. ONTAP reports that the volume Is using 100 GB of its containing aggregate.

D. ONTAP reports the volume as 10% full.

Correct Answer: AD

QUESTION 4

Your company wants to Increase access security In both their NFS and ISCSI environments. Currently ISCSI Is not
authenticated and NFS relies only on export policies for security. Which two enhancements do you use to satisfy this
new criteria? (Choose two.)

A. Enable Kerberos for NFS exports.

B. Enable Kerberos for iSCSI LUN access.

C. Enable Challenge-Handshake Authentication Protocol (CHAP) for NFS exports.

D. Enable Challenge-Handshake Authentication Protocol (CHAP) for ISCSI LUN access.

Correct Answer: AD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.cdot- famg-
nfs%2FGUID-0D282583-0A6F-4556-AF94-4B08FC5ADDES.htmll
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QUESTION 5

Which two types of capacity tiers are supported with FabricPool aggregates In ONTAP 9.8? (Choose two.)
A. SWIFT Object Store

B. NFS Export

C. StorageGRID Object Storage

D. S3 Object Store

Correct Answer: CD

Reference: https://www.netapp.com/pdf.html?item=/media/7335-sh- 3692pdf.pdfandv=202093858
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